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01 22Ul 1,200 0 1,200
OUSAUHMAIEE HF 04l
20,000 = 291 % 30 1,200
307 2iztol & 11,000 0 11,000
02 QIZHA AAIE B X 11,000 0 11,000
O[LI2tHAAIA B X 11,000
O WEIJN=EAN L WSAD e 2HeQ!
7,000,000& = 1A 7,000
O Heloltha s As ®
4,000,000& = 1A 4,000
401 A& HI L 2 0HHI 274 112 379,210 A 105,098
01 Al& H| 272,600 377,300 A 104,700
OnEANSI A 70,000,000 » 200 A 140,000
O Itne Ala 70,000,000 * 1o 70,000




EX: EXE M
MM NESHH WA
CHe: MECHM AL 22| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OJIEF NEHHE AILE2 EX(EHAIE EFHES)
500,0008 * 2004 &~ 10,000
OFES M8 U S22
300,0008 * 47042 14,100
ONEANSE RANES BAHH]
500,0008 * 684 & 34,000
OnEetd=E X & & 300,000 * 1500 A 4,500
03 AlE £ 0HH] 1,512 1,910 A\ 398
OusSdlss a4 210,000,000 * 0.72% 1,512
SHEHASZE & 60,368 0 60,368
401 A& HI L 204 HI 60,368 0 60,368
01 Al&H| 60,000 0 60,000
Osdd A& 2 8,500,000 * 402 34,000
Osdd B 1,000,000& * 20JH 2~ 20,000
Osdd EXT Al & WA
1,000,000& = 64 A 6,000
03 Al&E 201 Y| 368 0 368
OsdaAe 2 A 34,000,000& * 1.08% 368
HESHAAL (SAZ M) 54,180 37,700 16,480
JlEAdd (e 54,180 37,700 16,480
JIYEXE Il 22,297 20,497 1,800
201 et | 13,097 13,097 0
01 A2t 2| bl 13,097 13,097 0
Olger=2H] 9,569
ORANESYE SHAN 9,569,000& = 14 9,569
O[2&Hl] 3,528
OFNESYE SHHA 7,000€ * 791 « 72 3,528
202 044l 5,000 3,200 1,800
01 2L Y| 5,000 3,200 1,800
OFNSY SHAA 20,000 * 50l % /50 5,000
203 R F & 4,200 4,200 0
04 EASHEYRFAH| 4,200 4,200 0
OEMSY g4 350,000 = 128 4,200
WESHME J|I=2AHH| 8,673 8,673 0
201 LBt 9| 4,673 4,673 0
01 AP 22| d| 4,673 4,673 0
OfgerE=4] 2,013
OBASYE SHAHN 2,013,000& = 14 2,013
O] 2,660
ORASYE SUAHN 7,000& * 491 » 95 2,660




2N SXAEHB
N HESAYAY
=T I S o Lo o

|
el Jl=23 (e

5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
202 o4 | 4,000 4,000 0
01 2L I 4,000 4,000 0
EA2Y SHAN 20,000 = 401 x 50 4,000
MEANE JI=2Hd| 6,850 8,530 A 1,680
201 LBt | 3,250 4,930 A 1,680
01 AP 22| d| 3,250 4,930 A 1,680
OfgerL=4] 1,990
OBASYE SHAHN 1,990,000& = 14! 1,990
olzzl] 1,260
OBASYE SHAHN 7,000& = 321 * 60 1,260
202 o4 H| 3,600 3,600 0
01 2Ll 3,600 3,600 0
O[ZWHoHl] 3,600
ORANESYE SHAA 20,0003 = 321 » 60 3,600
QX8 Jl2Adl 8,520 0 8,520
201 et d| 5,520 0 5,520
01 AR 22l ] 5,520 0 5,520
Olget+gl] 3,000
OBENESYE SHHA 3,000,000 = 14 3,000
Ol2&Hl] 2,520
OBAN2YE SHAA 7,000 = 32 x 120 2,520
202 044l 3,000 0 3,000
01 2L Y| 3,000 0 3,000
O[2Hodl] 3,000
O BEA2Y A A
20,000& * 321 % 50 3,000
WE0IKAE 2| 7,840 0 7,840
201 et d| 3,840 0 3,840
01 AP 2t 2| bl 3,840 0 3,840
Olgets2d|] 2,160
O BEA2Y S dHAHA 2,160,000 = 14! 2,160
Ol2&Hl] 1,680
O BEN2YE SHHA 7,0008 ~ 421 « 60 1,680
202 044l 4,000 0 4,000
01 2L Y| 4,000 0 4,000
O[2Hodl] 4,000
O BN2Y WY A
20,000 * 491 % 50 4,000
MEES(EXNZ M) 1,200,000 1,700,000 A 500,000




2N

X ZH
S =

el

SXHE M
P HRES(ENZ M)
WEAHH X =

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEHHX = 1,200,000 1,700,000 A 500,000
FJaz SAIYgsLAY 200,000 200,000 0
702 JIS3HES 200,000 0 200,000
(O RPIE=RSE-<3= 200,000 0 200,000
OZgz sAJlgs4dlles =4
200,000,000& * 14 200,000
sZHI T LMY (s HAZLGMLSESH) 1,000,000 1,500,000 A 500,000
701 JIEtSI HEHES 1,000,000 1,500,000 A 500,000
01 JIEtZIHEES 1,000,000 1,500,000 500,000
Oge=s3EX =&ASH|
1,000,000,000& * 14 1,000,000




